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L2
(tf/ )M | (m | (m | (m |(tf/m)
7 52 | 1.7 [ 9.9 | 2.5 12.0| 9.5
(H400) 62
114
5 120 [ 2.4 | 8.5 | 3.2 | 11.3 | 18.6
(H500) 90
210
6 300 [2.2 8.9 3.0 11.5]| 52.2
(H500) 300
600
7 160 [ 2.3 | 8.7 | 3.1 | 11.4 | 23.7
(H500) 110
270
3
A B
(tf/m) (tf/m) A/B
4 9.5 11.5 0.83
5 18.6 21.9 0.85
6 52.2 23.6 2.21
7 23.7 31.2 0.76
104.0 88.2 1.18
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A B A B
(tf/m) | (tf/m) [ A/B | (tf/m) | (tf/m) | A/B
4 9.5 11.1] 0.86| 12.3 9.2 1.4
5 186 2.1 0.88| 37.8| 46.3]| 0.8
6 57.0 | 34.5| 1.65
1
85.1 | 66.7] 1.28] 50.1] 55.5] 0.90
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